UBIQUITI

NETWORKS

Installation Guide

Dish Series Antenna

© 9

© © U

Contents Oty.
& Parabolic Refiector/Dish 1 & M10X150 Bolt 4 € M10 Nut (Zinc Plated) 2
Feed 1 @ M10X25 Bolt 3 € M10 Washer (Zinc Plated) 2
€ Main Mounting Bracket 1 % M8 Nut 2 £ m10 Spring Lock Washer (Zinc Ptated) 2
¢ Pole Brackst * 2 % M16 Washer 2 & M4 Washer 4
@ Stabilizer Bracket 2 @ ™16 Spring Lock Washer 1 €3 M4 Spring Lock Washer 4
@ Watarproof Cable* 2 @ M10 Nut 7 @ M4X12 Screw 4
© M16 Elevation Rod 1 € M10 washer 7 * or RocketDish only
@ M10X100 Bolt 2 @ M10 Spring Lock Washer 7 ** Products may be different from piciures and

are subject to change without prior notice

Welcome Suppori
Thank you for purchasing this Ubiquiti Networks Backhaul Antenna. Ubiquiti support engineers are located in the U.S. and in Europe and are
These instructionsare for the following model numbers: dedicated to helping customers resclve software, hardware compatibifity, or

h-5G30 field issues as guickly as possible.

{h MimoDish-5

(Il RocketDish-5G30

{1} MimoDish-5G33 Internet: www.ubnt.com

(V) RocketDish-5G33 Internet Support Forum: www.forum.ubnt.com

Tools Required for Mounting

. - IMPORTANT NOTICE
1. Screw driver Phillips #1 (Qty. 1) .

2. 18mm or 5/8 inch wrench (Qty. 1)
3. 24mm wrench (Qty. 1)

The parabolic reflector should be handled with care,
Deformations in the shape wilf reduce the products effective-
Ness.

General Warranty:
UBIQUITI NETWORKS, Inc {"UBIQUITI NETWORKS®) represents and warrants that the Products furnished hereunder shail ba free from defects in material and workmanship for a period of one {1} year from the date of shipment by UBIQUITI NETWCHKS.
under normal use and operaticn. UBIGUITI NETWORKS eole and exclusive abligation under the faregoing warranty shall be to repair or replace, at its option, any defective Product that fails during the warranty period. The axpense of removal and
reinstalation of any item is not incheded in this warranty,
The foregoing warranty is exclusive and in ileu of all other warranties, express or implied, including lhe implied warrarties of merchaniablity and fitness for a particular purpese and any wanranties arising from a course of dealing, usage or trade practice
with respect to the produats. Repair or replacemant In the manner provided herein shall be the sole and axciusive remedy of Buyer far breach of wamanty and shall constitute fulfifiment of all iablities of UBIQUIT! NETWORKS with respect 1o the quality
and perfarmance of the Products. UBIQUITI NETWORKS reserves the right 1o Inspect all defective Products (which must be returned by Buyer to UBIQUITI NETWORKS factory freight propaid).
Me Products will be accepted for replacement or repalr without oblaining a Return Materials Authorization (RMA) number from UBIGUITI NETWORKS. Products returned without an AMA number will not be processed and will be returned ta Buyer feight
callect, UBIQUITI NETWORKS shall have no obiigation ta make repairs or replacement necessitated by catastropha, fault, negligence, misuse, abuse, or accident by Buyer, Buyer's customers or any other paries. The waranty perod of any repaired or
replaced. Product shall not extend beyond its ofiginal term.
Warranty Conditions
The foregoing warranty shall apply only i:

4 The Product has not been subjecied fo misuse, neglect or unusual physical, slectrica! or electromagneiic stress, or some other type of accident.

n No medtiication, alteralion or addition has been made lo the Product by persons other than UBIQUITE NETWORKS or UBIQUATI NETWORKS's

autharized representatives or otherwise approved by UBIQUITI NETWORKS.

{10y The Product has been properly installed and used at all imes in accordance, and In all material respects, with the applicable Product documentation.
Disclaimer. UBIQUITI NETWORKS does not warrant that the operation of the products is error-free or that aperation wil be uninterrupted. In no avent shall UBIQUITI NETWORKS be responsible for damages or claims of any nature or descripion refating 10
systemn perfermance, including buyer's lon of prod for buyer's app ien and/or failure of producis to meet government or regulatory requirements.

© 2009 Ubiquiti Networks, Inc. All Rights Reserved. Contents may vary depending ch modet version - Features and specifications subject to change withowt notice.



1. Install Feed to Dish

Install € Feed to €9 Dish by:

@) M4 Washer (Qty. 4)

€% M4 Spring Lock Washer (Qty. 4)

@ M4X12 Screw (Qty. 4)

The Dish/Feed are keyed so that the feed can only be installed one way.

To install, line up the alignment pin on the Dish with the hole on the Feed
as shown in figure 1.

2. Install Main Mounting Bracket and Elevation Rod

Put @ W10X15C Bolt on the £ Main Mounting Bracket. Install &

Main Mounting Bracket and € Elevation Rod to €9 Dish by:

@ M10X25 Bolt (Qty. 3) €® M16 Washer (Qty. 2)

€) M10 Washer (Qty. 3) ¢ M16 Spring Lock Washer (Qty. 1)
€ M10 Spring Lock Washer (Qty. 3) §@ M16 Nut (Qty. 2)

£ M10 Nut (Oty. 3)

Pivot Points should be loose to allow mounting frame to move so that
elevaiion rod can be instalied.

3. Install Rocket and Waterproof Cables

MimoDish go to step 4.
Insiall Rocket by lining up slots on Rocket/Dish bracket. Slide into place.

Install £ Waterproof Cables (Qty. 2) to Rocket/Dish connectors.
Rubber boot to be placed over connectors for weatherproofing.

4. Attach Stabilizer Bracket to Pole

Select location for Dish antenna and attach the stabilizer bracket to
mounting pole just below where Dish will be installed as shown in figure 4.
Tighten to 14M-m (10 [b-ft). install & Stabilizer Bracket to pole by:

£ M10X300 Bolt (Qty. 2)

@) M10 Washer (Qty. 2}

€ M0 Spring Lock Washer (Qty. 2)
€ M10 Nut (Qty. 2)

5. Attach Antenna to Mounting Pole

Mounting bracket can accommodate £41.5"-4"pole.

Mount the antenna slightly above the stabilizer bracket as shown in figure 5
using the following parts:

@ M10X150 Bolt (Qty. 4)

& M10 Washer {Qty. 4)

€ M10 Spring Lock Washer {Qty. 4)

@ M10 Nut (Qty. 4)

6. Adjust Azimuth and Elevation

After a visual alignment of both elevation and azimuth, azimuth can be
adjusted by rotating the antenna while supported by the stabilizer bracket.
Elevation is adjusted by tightening/loosening the elevation rod.

When azimuth/elevation are set tighten nuts to approximately
14N-m({10 tb-ft) or less should the mounting pole show deformation.




